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1. Find the following values, il exisl. (10%)
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. Determine wheblier the series converges or diverges. (10%)
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Let f(x) = |«* — 1}, Calenlate ['(x) and f*(x). Specify the domains of all three functions.  (10%)

. Ilind the arca bonnded by the graphs of the equations y = & — 6 and y? +4 = x. (10%)

- The margival revenue of a small firm is given hy Mp(x) = 125 + 200e(2? + 1)™". How much will

revenue increase il production is increased from 99 items per day Lo 143 items per day. (10%)

The region bounded by the graphs of y = 0, z = ¢ and ¥ = Inw is revolved around the y-axis.
Compute the volume of the resulting solid. (10%)

. Suppose a company earns a daily |nolll. of P(a,y) = ~3u? — 2% + duay + 502 + G4y — 600 dollars

il it uses = workers and a capital ontlay of $y thousand. lHow many workers and how much capital
should the company use to maximize the daily profit? o (10%)






